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Example:
How much is the shirt?
A. £19.15.
B. £9.15.
C. £9.18,
Answer: [A] (8] [C]

1. Where are they talking?
A. In a meeting. B. On the phone. C. In the street.

2. Where are they going?
A. To a hospital. B. To a library. C. To a cinema.

3. How many colds has the man had?
A. Eight. B. Two. C. Four.

4. What does the woman want the man to do?
A. Open the window a little bit.
B. Bring her a bowl of chili.



C. l.eave the window closed.

5. Why can’t the woman tell the time?
A. There is something wrong with her watch.
B. She doesn’t want to tell the man.
C. She has no watch.
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6. When was the man’s first time to come here?
A. Two years ago.
B. Three years ago.
C. Five vears ago.
7. How many times has he been in China?
A. Once. B. Twice. C. Theree times.
8. What impresses him most this time?
A. The tail building.
B. The railway station.

C. The great changes.
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9. Which bus should the woman take?
A. No.§. B. No.18. . No.80.
2



10. Where can she take the bus to the place she wants to go to?
A. College Road.
B. Bridge Street.
C. The International Bank.
11. How long will it take the woman to get there?
A, About an hour.
B. About half an hour.
(. About an hour and a half.
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12. What's wrong with the woman?
A. She is very well.
B. She’s caught a cold.
C. She has injured her muscles.
13. What has she dorie to her iliness?
A. She has taken some rhedicine.
B. She has been drinking & lot of orange juice.
C. She has seen the doctor.
14, What's the man's suggestion?
A. Go to see the doctor.
B. Take some medicine.

C. Drink more orange juice.

UreE 9 Bbie, BB 15 B 17 8.
15. Who watched the game last night?
A. The girl and her father.
B. The boy and the gisl.
C. The boy and his mother.
16. What was the film about?



A. Tt was about Madame Curie,
B. It was about a football game.
C. It was about a father.
17. What was the result of the game?
A. Neither of the two teams won the game.
B. it was not mentioned in the talk.

C. The boy’s {avorite team won the game.
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18. Which of the following is right?
A. Now there are only a few cities in the world.
B. Long, long ago, there were hundreds of people in the city.
C. Long, long ago, there were only several thousand people in
the world.
19. Where did people live after they learned how to grow food?
A, In very big villages. *
B. In big cities.
C. In small cities.
20. When did the first village come along?
A. After people moved from place to place.
B. After people lived near each other.
C. After people hunted a lot of animals.
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Example:
How much is the shirt?
A. £19.15.
B. £9.15.
C. £9.18.
Answer: [A] (4] [C]

1. When will the speakers get to Beijing?
A. 8:30. B. 8:50. C. 9:00.

2. What does the woman imply (B&7K) about Kelly?
A. She’s perhaps nearby.
B. She forgot her bag.
C. She might be having lunch now.

3. When are they going to sow the seeds?
A. Today. B. Tomorrow. C. Right away.

4. How much longer will the woman have 10 wair?



3.

A. One hour. B. 30 minutes.

When will the train leave?
A. At 8:30, B. At 8.:45.

C. 20 minutes.

C. At 9:00.
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6. What will Mary’'s mother receive for her birthday?

A. A shirt. B. A skirt.

. Who'll cook the special dinner?
A. Mary. B. Mary’s friend.
. Who will do the shopping?

A. Mary’s father and mother.
B. Mary and her mother.
C. Mary and her father.

WrsE 7 BEpPH, MBS 9 F 11 8,

9.

10.

Where are the two speakers?

A. In the woman speaker’s office.

B. In the woman speaker’s house.

C. Ia a classroom.

Why did the man come into the room?
A. Because he worked there himself.

C. A plate.

C. Mary’s mother.



B. Because he had 10 see the woman doctor.
C. Because he wanted Jane to type a letter for him.
11. What was Jane doing on the day when the dialogue took place?
A. She was taking a rest.
B. She was taking an exam.

C. She was preparing for an exam.
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12. What does the woman want to do?
A. Go to Wangfujing Department Store.
B. Play at the Workers’ Club Building.
C. Ask the way from the man.
13. Where are the two speakers?
A. In a store. B. In a2 hotel. C. At a bus stop.
14. What will the woman decide 10 do?
A. She will prefer walking.
B. She will tgske a No.8 bus, then change to a No.3 bus.
C. She will take a No. 3 bus.

Ui o BRbbH, BIESE 15 F 17 8,
15. Why does the woman make the telephone call?
A. She wants to know more about the club.
B. She hopes to find a job in Washington‘
C. She plans to go 10 evening classes.
16. What language does the woman speak besides English?
A. Spanish. B. French. C. Italan.
17. Why does the man ask the woman for her name and address?
A. He wants to send her a form.

B. He intends to visit her.



C. He would like to know more abont her.
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18. What does the speaker want to tell his listeners?

A. How money came into being.

B. What was used as money in the past.

€. Chinese people were the earliest users of money.
19. According 1o the speech, which of the following might have

been used for money by early Japanese?

A. Tea. B. Cows. C. Salt.
20. Who first used coins as money?

A. The Europeans.

B. The Chinese.

C. The American Indians.
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Example:
How much is the shirt?
A. £19.15.
B. £9.15.
C. £9.18.
Answer: [A] [3] [C]

1. When does the office open?
A. At B:30. B. At 7:30. C. At 8:00,

2. Who is the man speaking to?
A. Mr Brown. B. Betty. C. Mary.

3. What kind of food does the man prefer?
A. Chinese. B. French. C. Either one.

4. What has the woman done?
A. Visited Sue. B. Talked 1o Sue. C. Phoned Sue.



3. What can be learned from this dialogue?
A. She is new, B. She is not new. C. They are friends.
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6. How does the man know Sandra?
A. He is her doctor.
B. He is her professor.
. They are in the same class.
7. How far away does her sister live?
A. About six hours by train.
B. About six hours by car.
C. About six hours by plane.
8. What will Sandra discuss with her professor?
A. About her sister’s illness.
B. About making up an exam.

C. About her test score.

WrEE T B, BESEIE 1K,
9. What is the topic of the dialogue?
A. The weather.
B. Life in the country.
C. A weekend.
10



10. Where did Alice spend the nights in the country?
A. In a farmer's house.
B. In the open.
C. At a friend’s home.
11. How long did it take Alice to come back from the country?
A, Half an hour.
B. Four hours.

C. Nine hours.

WrsE 8 BEp M, MIER 12 148,
12. What are they talking about?
A. The education in the U.S. A,
B. The examination in England.
C. The education in England.
13. At what age do children go to school there?
A. At five.
B. At five and a half.
C. Acsix and a half.
14. Which of the following statements is right according to the
dialogue?
A. Boys and girls can study together at school.
B. Boys and girls hardly go to school together.
C. Only boys go to school together.

W3 9 Btk BIESH 15 E 17 8.
15. Why did the woman want to talk to the man?
A. She was interested in foreigners.
B. She planned to write about the evening school.

C. She wanted to be able to teach English better.
11



16. When did the conversation take place?
A. In the morning.
B. In the afterncon.
C. In the evening.
17. What was the man going to do after the conversation?
A. To see his uncle.
B. To have classes.

C. To work in the shop.

Wreh 10 SR K, K5 18 E 20 .
18. Where is the bird?
A. It's in a basket.
B. It’s in a bey's hand.
C. It's in the man’s hand.
19. What kind of bird did the boys have?
A. A bird that can talk.
B. An ordinary bird.
C. A strange bird.
20. What do the boys think of the man?
A. Heis a kind man.
B. He is the biggest liar they were waiting for.

C. He never tells lies.

12



W I VIBRRE 4

F1H(R5MEHMEL58,.%27.55)

WRE 5 Bxfig. BERMBEEA —N/DE,AEPHFLN AB.C
I BEET, i REAEN MR, WS
BEE  AERE 10 Bk Rend E A A X/ NEMRET 8. 88
%5 L — R .

Example:
How much is the shirt?
A £19.15.
B. £9.15.
C. £9.18.
Answer: [A) :B] [C]

1. What does the man think of the cake?
A. Delicious. B. Not very good. C. It’'s OK.

2. Where does this conversation probably take place?

A. 1n a hotel. B. In a restaurant. C. In their house.

3. What does the man mean?
A. He wants to know more about the woman's children.
B. He wants to have dinner with the woman.

C. He doesn’t want 1o have dinner with the woman.

4. What's the man’s trouble?
13



